Phys 206 — Fall 2019
All Unwversity Physics Sections

Exam 1

Short answer

A) a) a= 450 [LO 2.1, 3.1]

b) Ax B=—-2V2k [LO 2.2, 2.3]

B) a) A7= %bt%j’ [LO 8.1, 14.1, 15.1]

b) a(t) = 2bt ) [LO 8.2, 14.2, 15.2]

C) a) By =2i+Yj [LO 1.1, 11.1, 11.2]

b) Tug = Li+ (L —vp/0)] [LO 1.2, 20.1 ,20.2]

Problem 1: a) a(t) = —10 m/s?; Yes, it is constant [LO 8.3, 12.1, 15.3]
b) tstop =5 [LO 3.2, 6.1, 8.4, 12.2]

c) vp = +40 m/si [LO 3.3, 5.1, 10.1, 14.3]

d) “first to the right, and later to the left” [LO 13.1]

Problem 2: a) v, = —(100 m/s)j [LO 6.2, 13.4, 14.4, 20.2]
b) [LO 9.1, 9.2, 14.5, 20.4]
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c) t=20s [LO 3.4, 10.2, 12.3, 14.6, 15.4]

d) d=2km [LO 10.3, 10.4, 14.7, 15.5]

Problem 3: a) i [LO 6.3, 16.1]
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b) vgy = 28 [LO 11.3, 19.1]

c) 6 =tan"! (&%) [LO 1.3, 3.5, 13.3, 16.2]

d) agep = 8 [LO 3.6, 12.4, 13.4, 16.3, 18.1, 19.2]



